Y77/

HEERRERA 2
KUKJE HYDRAULIC CO. LTD.

Release New Product

MRelease New Product
Greeting!

It is our pleasure to inform you New Product “ M5X130& M5X180”.

Please feel free to contact us if you have any inquiry.

M5X130 & M5X180

* CYLINDER BLOCK
* VALVE PLATE

* PISTON ASSY (9PCS/SET)
* SET PLATE/SET SPRING

* SHOE PLATE

* DRIVE SHAFT

* FRICTION PLATE

* SEPARATION PLATE

Contact us

Website : www.kjchydraulic.com Email : kic@kjchydraulic.com

Phone :+82 31 409 0746 Fax :+82 31409 5290



http://www.kukje-hyd.com/
http://www.kukje-hyd.com/
http://www.kukje-hyd.com/

HydraulictPariSHl' 5 & K EES

U

2129

243
241

825

01

S'0L

#47.5
965

$129

Cylinder Block

©$39.3

930

S'S

S'¢L

Piston Assy

5

934.5

925

$20m6

37

131

(235.5)

21

Drive Shaft

Website : www.kjchydraulic.com

Phone :+82 31 409 0746

Email : kic@kjchydraulic.com

Fax

1 +82 31 409 5290



http://www.kukje-hyd.com/
http://www.kukje-hyd.com/
http://www.kukje-hyd.com/

-

$108
948

I
| 8131
1

o 875 ’

$127.3

Valve Plate
967
5 958.5
$125.5 .
Set plate / Spring
Shoe Plate
s
-<€?/ii§
Website : www.kjchydraulic.com Email : kic@kjchydraulic.com

Phone :+82 31 409 0746 Fax :+82 31409 5290



http://www.kukje-hyd.com/
http://www.kukje-hyd.com/
http://www.kukje-hyd.com/



